
Nombre: 　　　　　　　 Fecha: 　　　　　　 Puntuación: 　　　

Aritmética de exponentes enteros

1 − (−2) =2 9 + (−5) =

(−2) − 5 =2 (−1) + (−4) =3

(−9) + 7 = (−1) + 7 =2

3 + 1 =0 9 − (−6) =2

8 + (−9) = (−7) + (−9) =

(−8) + (−6) = 2 − 6 =

6 − (−3) =0 (−4) + (−7) =

7 − (−10) =2 (−7) + (−4) =3

9 + 2 =2 (−6) − 8 =3

10 + 4 =3 3 + (−1) =2
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Nombre: 　　　　　　　 Fecha: 　　　　　　 Puntuación: 　　　

Aritmética de exponentes enteros

1 − (−2) = 32 9 + (−5) = 4

(−2) − 5 = (−1)2 (−1) + (−4) = (−5)3

(−9) + 7 = (−2) (−1) + 7 = 82

3 + 1 = 20 9 − (−6) = 872

8 + (−9) = (−1) (−7) + (−9) = (−16)

(−8) + (−6) = (−14) 2 − 6 = (−4)

6 − (−3) = 40 (−4) + (−7) = (−11)

7 − (−10) = 592 (−7) + (−4) = (−347)3

9 + 2 = 832 (−6) − 8 = (−224)3

10 + 4 = 10043 3 + (−1) = 82
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